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Presenting the Problem

To Prove: ABCD is a rectangle

The Board Plan

Diagonals are equal in length

Misconception: To prove that ABCD is a parallelogram
ABCD s assumed tobe o

paratelog:

Misconception: . - .

Only one pair of sides equal 1. Both pairs of opposite sides are equal in length | ™
nlength - Trapezium /\

dist

[ radivoiameters | [oisance [Pythagorss | [ Slopes mumi=-1 |
formula

Diagonals are equal in length

2. Both paisof opposite sides are parale

One angle is 90°

— T
[ Radioiameters | :::: [ Prinagoray

— VT
] [sopesmm-1] proagas

Prior Knowledge & Students working on

Posing the Task
10 minutes

DRUMCONDRA

the problem
25 minutes

Reflecting on the Learning

Lesson was an excellent opportunity for students to
make connections between various concepts in
geometry. A rich variety of student approaches was
observed during the lesson. Assuming that the
quadrilateral was a parallelogram was a common
misconception among students. This rich and engaging
lesson resulting in much student discussion and debate;
peer tutoring and teamwork was very evident throughout
the lesson.
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Presentation of Summing up &
Solutions & Ceardafocht Reflection

20 minutes 5 minutes

Developed by Declan Cathcart, Deborah
Crean and Nadia Douglas, with the
support of Jill Condell, Cathal Halpenny
MDT and the students from Temple
Carrig School, Greystones, Co. Wicklow.




